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AE:
(1) & 16 1B HHF 09 L 4431
(i) Rso B s B FHTFARRTAHO Y EAIES
t.test(f grade, mu=60, alternative="two.sided", conf.level=0.95) » 58| % — ;
(iil) RAEAREZ 5 60 4 FHALLHZFTAN 05 BHES
prop.test(9,16,0.5,alternative="greater", correct=F) » {58 & = -
BATF AL R b B, AR — TR B AR 7
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One Sample t-test
data: f grade
t=0.46886, df=(??), p-value=0.6459
alternative hypothesis: true mean is not equal to 60
95 percent confidence interval:

52.02145  (F)

sample estimates:

mean of x
62.25

Ao CRAPEAE S A

1-sample proportions test without continuity correction
data: 9 out of 16, null probability 0.5

X-squared = (&), df=(??), p-value=10.3085
alternative hypothesis: true p is greater than 0.5
95 percent confidence interval:

0.3645782  (A)

sample estimates:

P
(??)
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Call:
Im(formula = Iny ~ InL + InK)

Residuals:

Min 1Q Median 3Q Max
-2.3969 -0.6511 0.1407 0.7615 1.6871
Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) 8.091 (?7) ??7) (77) s
InL 0.570 (77) (7?7) (Z2)»*
InK 0.278 ] 7 (27) *

Signif. codes: 0 “***>(0.001 “*** 0.01 “**0.05°>0.1°" 1

Residual standard error: (?77) on (77) degrees of freedom
Multiple R-squared: (T), Adjusted R-squared: (s,
F-statistic: 59.78 on (??) and (??) DF, p-value: (77)
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MEIMMEFAET Y = 1RREEA NS Y = 0RFHABA Nohik o R =B A

U AETEPEINNEREH v =1REXEPF 0 =0REFEP 0 AEPB
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(A) Zm(B)EEREFAHNM-1.96 82+1.96 2 F -

(B) & m(Bk)EHE T A 999 -

(C) Zw(F)EAHFH 997 -

(D) 4o RP B HIEBER  FUAKE TTE L, BEM > MAY ~x; ~ X, 9 BIFE R4
R 8y 547 4 R P 09 3T A B 0.0575 -

(B) TAF E{HMEBBITH N | SHFREIER -

E(Y) =

P

Fm BWEIAE 8

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept)  -1.621 ??) (77) O
x1 -0.131 (??7) (7?) (?7)
%2 -0.130 (2?) () (77) *
x3 0.575 7 (??) (?7) *

Signif. codes: 0 “**** (0.001 “**7 0.01 *** 0.05°°0.1°" 1
(Dispersion parameter for binomial family taken to be 1)

Null deviance: 1239.8 on (&) degrees of freedom

Residual deviance: 1227.7 on () degrees of freedom

AIC: 1235.7
Number of Fisher Scoring iterations: 4
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I. Home bias refers to

(A). the tendency to give preferential treatment to people from your home country.
(B). the tendency to vacation in your home country instead of traveling abroad.
(C). the tendency to believe that your home country is better than other countries.
(D). the tendency to overweight investments in your home country.

(E). None of the options.

2. There are 3 directors' seats up for election. If you own 1,000 shares of stock and you can cast 3,000 votes
for a particular director, this is illustrative of:

(A). cumulative voting.

(B). sequential voting.

(C). straight voting.

(D). absolute priority voting.

(E). none of these.

3. If Microsoft were to acquire U.S. Airways, the acquisition would be classified asa __ acquisition.
(A). horizontal.

(B). conglomerate.

(C). vertical.

(D). longitudinal.

(E). complementary resources.

4. Generous compensation packages paid to a firm's top management in the event of a takeover are referred
to as:

(A). white knights.

(B). poison puts.

(C). golden parachutes.

(D). shark repellents.

(E). bear hugs.

5. Credit default swaps:

(A). will pay the holder the LIBOR interest rate.

(B). pay the borrower the LIBOR interest rate.

(C). limit the amount of borrowing of all parties in the credit default swap.
(D). are like insurance against a loss of value if the firm defaults on a bond.
(E). none of these.

6. If you ignore taxes and transaction costs, a stock repurchase will:
I. reduce the total assets of a firm.

I1. increase the earnings per share.

II. reduce the PE ratio more than an equivalent stock dividend.

IV. reduce the total equity of a firm.

(A). I and III only.
(B). Il and IV only.
(C). I 11, and TV only.
(D). L1 11, and TV.
(E). LTI, and IV only.
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[7. A reverse stock split is sometimes used as a means of’

(A). decreasing the market value per share of stock.

(B). increasing the number of stockholders.

(C). keeping a firm's stock eligible for trading on a stock exchange
(D). raising cash from current stockholders.

8. Kahneman and Tversky (1973) report that and :
(A). people give too little weight to recent experience compared to prior bellefs tend to make forecasts
that are too extreme given the uncertainty of their information.
(B). people give too much weight to recent experience compared to prior beliefs; tend to make forecasts
that are too extreme given the uncertainty of their information.
(C). people give too little weight to recent experience compared to prior beliefs: tend to make forecasts
that are not extreme enough given the uncertainty of their information.
(D). people give too much weight to recent experience compared to prior beliefs: tend to make forecasts
that are not extreme enough given the uncertainty of their information. i

9. A bond manager who wishes to hold the bond with the greatest potential volatility would be wise to
hold:

(A). short-term, high-coupon bonds.
(B). long-term, low-coupon bonds.
(C). short-term. zero-coupon bonds.
(D). short-term, low-coupon bonds.
(E). long-term, zero-coupon bonds.

10. Assume the following information for a bank quoting on spot exchange rates:
Exchange rate of Singapore dollar in U.S. § = $.60

Exchange rate of pound in U.S. $ =$1.50

Exchange rate of pound in Singapore dollars = S$2.6

Based on the information given, as you and others perform triangular arbitrage, what should logically
happen to the spot exchange rates?

(A). The Singapore dollar value in U.S. dollars should appreciate, the pound value in U.S. dollars should
appreciate. and the pound value in Singapore dollars should depreciate.

(B). The Singapore dollar value in U.S. dollars should depreciate, the pound value in U.S. dollars should
appreciate, and the pound value in Singapore dollars should depreciate.

(C). The Singapore dollar value in U.S. dollars should depreciare, the pound value in U.S. dollars should
appreciate, and the pound value in Singapore dollars should appreciate.

(D). The Singapore dollar value in U.S. dollars should appreciate, the pound value in U.S. dollars should
depreciate, and the pound value in Singapore dollars should appreciate.

11. If interest rate parity exists and transactions costs are zero, the hedging of payables in euros with a
forward hedge will

(A). require more dollars than a money market hedge.

(B). have the same result as a put option hedge on payables.

(C'). have the same result as a call option hedge on payables.

(D). have the same result as a money market hedge on payables.

(). A and D.
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[12. Bond stripping and bond reconstitution offer opportunities for , which can occur if the

~___isviolated.

(A). arbitrage; law of one price.

(B). arbitrage: restrictive covenants.
(C). huge losses; law of one price.
(D). huge losses; restrictive covenants.

13. An important difference between CAPM and APT is

(A). CAPM depends on risk-return dominance; APT depends on a no arbitrage condition.
(B). CAPM assumes many small changes are required to bring the market back to equilibrium; APT
| assumes a few large changes are required to bring the market back to equilibrium.
(C). both CAPM depends on risk-return dominance; APT depends on a no arbitrage condition and CAPM
assumes many small changes are required to bring the market back to equilibrium; APT assumes a few
large changes are required to bring the market back to equilibrium.
(D). implications for prices derived from CAPM arguments are stronger than prices derived from APT
arguments.
(E). all of the options are true. |

14. When computing yield to maturity, the implicit reinvestment assumption is that the interest payments
are reinvested at the

(A). coupon rate.

(B). current yield.

(C). yield to maturity at the time of the investment.

(D). the average yield to maturity throughout the investment period.

(E). prevailing yield to maturity at the time interest payments are received.

15. Which of the following are examples of an incremental cash flow?
I. An increase in accounts receivable.

[1. A decrease in net working capital.

I1I. An increase in taxes.

IV. A decrease in the cost of goods sold.

(A). Iand I1I only.
(B). Tand IV only.
(C). 1L 111, and 1V only.
(D). 11l and I'V only.
(E). I, 11, 111, and V.

'16. The change in firm value in the presence of corporate taxes only is:

(A. positive as equityholders face a lower effective tax rate.

(B. positive as equityholders gain the tax shield on the debt interest.

(C). negative because of the increased risk of default and fewer shares outstanding.
(D). negative because of a reduction of equity outstanding. i
(E). none of these.
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[17. Using the CAPM to calculate the cost of capital for a risky project assumes that:
(A). using the firm's beta is the same measure of risk as the project.

(B). the firm is all-equity financed.

(C). the financial risk is equal to business risk. ‘
(D). both using the firm's beta is the same measure of risk as the project; and the financial risk is equal to

business risk.
(I}). both using the firm's beta is the same measure of risk as the project; and the firm is all-equity financed.

18. Assume that interest rate parity holds. The Mexican interest rate is 5%, and the U.S. interest rate is 8%.
Subsequently. the U.S. interest rate decreases to 7%. According to interest rate parity, the peso's forward
owill

(A). discount; increase.
(B). discount; decrease.
(C). premium; increase.
(D). premium; decrease.

19. Before expiration, the time value of an at-the-money put option is always
(A). equal to zero.

(B). equal to the stock price minus the exercise price.

(C). negative.

(D). positive.

(E). none of the options

20. The term structure of interest rates is

(A). the relationship between the rates of interest on all securities.

(B). the relationship between the yield on a bond and its default rate.

(C). the relationship between the interest rate on a security and its time to maturity.
(D). all of the options.

(). none of the options.

21. Other things equal, the price of a stock put option is positively correlated with which of the following
factors?

(A). the stock price, and the time to maturity.

(B). the risk-free interest rate.

(C). the stock volatility. and stock price.

(D). the exercise price, and the risk-free interest rate.

(I2). the stock volatility. and the exercise price.

22. Camille's Café is considering a project which will produce sales of $17,500 and increase cash expenses
by $12.000. If the project is implemented, taxes will increase from $23,000 to $24,500 and depreciation
will increase from $4.,000 to $5,500. What is the amount of the operating cash flow using the top-down
approach?

(A). $2.500.

(B). $4.000.

(C). $5.500.

(D). $17.500.

(E). $29.500.
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23. The Norris Co. has an improved version of its hotel stand. The investment cost is expected to be $72
million and will return $13.5 million for 5 years in net cash flows. The ratio of debt to equity is 1 to 1. The
cost of equity is 13%, the cost of debt is 9%, and the tax rate is 34%. The appropriate discount rate.
assuming average risk, is:

(A). 7.59%.

(B). 8.65%.

(C). 9.01%.

(D). 9.47%.

(E). 10.50%.

24. Thompson & Thomson is an all equity firm that has 500,000 shares of stock outstanding. The company
is in the process of borrowing $8 million at 9% interest to repurchase 200,000 shares of the outstanding
stock. What is the value of this firm if you ignore taxes?

(A). $20.0 million.

(B). $20.8 million.

(C). $21.0 million.

(D). $21.2 million.

(E). $21.3 million.

25. Assume that the spot rate of the Singapore dollar is $0.664. The ADR of a Singapore firm is convertible
into 3 shares of stock. The price of an ADR is $20. What is the share price of the firm in Singapore dollars?

(A). 4.52.
(B). 6.67.

(C). 10.00.
(D). 13.28.
(E). 39.84.

By P As E AR S By S50 4)

A. Please display a figure to draw Interest Rate Parity line. The y-axis is the interest rate difference
between home and foreign markets and the x-axis is the forward rate premium. (4%)

B. Please point out which area in the figure the potential covered interest arbitrage by investors
residing in the home and foreign country. (3%)

(. Please describe how much profits from covered interest arbitrage if the opportunity lies on Interest
Rate Parity line. (4%)

(R}

A. Please define what is the agency problem and the two types of agency problems. (7%)
B. Please provide examples of the two types of agency problems in corporate finance (4%).

(98]

A. Please define the corporate governance mechanism (3%).
B. Please describe the internal and external governance mechanisms and provide the definition and
example for each corporate governance mechanism in the framework (6%).

|
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4. A portfolio management organization analyzes 60 stocks and constructs a mean-variance efficient

portfolio using only these 60 securities.
A. How many estimates of expected returns, variances, and covariances are needed to optimize this
portfolio? (4%)

Estimates of expected returns:

Estimates of variances:

Estimates of covariances:

Total estimates:

B. If one could safely assume that stock market returns closely resemble a single-index structure, how
many estimates of alpha. beta. variance, market risk premium, and macoeconomic factor would be
needed? (6%)

Index-model
Estimates of alpha:
Estimates of beta:
Estimates of variances:
market risk premium:
macroeconomic factor:
Total estimates:

5. You are evaluating two investment alternatives. One is a passive market portfolio with an expected
return of 10% and a standard deviation of 16%. The other is a fund that is actively managed by your broker.
This fund has an expected return of 15% and a standard deviation of 20%. The risk-free rate is currently

7%. Answer the questions below based on this information.

A. What is the slope of the capital market line? (3%)

B. What is the slope of the capital allocation line offered by your broker's fund? (3%)

C. What is the maximum fee your broker could charge and still leave you as well off as if you had invested
in the passive market fund? (Assume that the fee would be a percentage of the investment in the broker's

fund and would be deducted at the end of the year.) (3%)
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1. (10%)

derivatives:
(@) f(x) = |x|+ [x+3] (5%)

(b) g(x) = x|x|  (5%)

2. (20%)

(@) f(x) =x+2/x,forx # 0 (10%)

(b) glx) =vx—2vVx+ 4, forx >0 (10%)

3. (25%)
Find the following limits

In(x+1)

(a) xll')rcl'qJr - for0 <x <m/2 (7%)

(b) lim xInx, for0 < x < oo (6%)
x—0+

(¢] lim »%, for 0 <x € o0 (6%)
x—0+

1 X

(@ lim (1+2) , for 1 < x < o0 (6%)
X—00 x

4. (15%)

(a) F(x) = foxz(l +t3)1dt (7%)
(b) F(x) = [, V1 +t2de (8%)

Find the derivative of F(x) when F is defined on [0, 1]:

For the following functions from R to R, determine (1) where they are differentiable and (2) find their

For the following functions, (1) find the points of relative extrema, (2) the intervals on which the
functions are increasing and (3) the intervals on which they are decreasing
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5. (30%)

Evaluate the following integrals
(@) [, tVI+cZdt (10%)

(b) J, t2(1+ ¢3)"V2dt (10%)

© [ lffﬁdt (10%)
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1) Jean goes to her local sporting goods store to buy socks and jogging shorts. Socks cost $10 per pair and
jogging shorts cost $15 each. At her current consumption bundle pair of 4 pairs of socks and 2 jogging

shorts, her marginal benefit from the last pair of socks is 20 and the marginal benefit of the last jogging
short is 30. Jean should

A) buy the same number of socks but buy an additional jogging short
B) buy one more pair of socks and one fewer jogging short

C) buy one more jogging short and one fewer pair of socks

D) leave her consumption bundle unchanged

2) The following table shows the total output, variable costs, fixed costs, total costs, average total costs,
and marginal costs of a firm, with some cells in the table intentionally left blank. What is the variable cost
of producing 17 units of output?

Total Average
Output Variable | Fixed Total Marginal
(units) Costs ($) | Costs ($)| Total Cost ($) | Cost($) | Cost($)
0 0 100 n.a.
5 10
10 122
14 2.50
e 8.24
A) $100
B) $8.23
C) $40
D) $50

3) Is the producer surplus same as the profit?

A) Yes, they are the same, because the producer surplus is the sum of profits from each unit sold.
B) Yes, they are the same, because the profit is the revenue minus the sum of marginal costs of each unit
sold.

C) No, they are different, because the profit is always at least the producer surplus.

D) No, they are different, because the producer surplus does not take into account the fixed cost.

4) If a new production process is developed that allows firms to produce the same output with fewer inputs,
then the prices of the inputs

A) will rise due to increased supply of the inputs

B) may rise due to increased production by existing firms and new firms' entry
C) will fall due to increased demand for the inputs

D) may fall due to decreased production by existing firms and/or exit

5) The figure below shows the potential gains from specialization for farms in Idaho and Iowa. Which of]
the following terms of trade will result in mutual gains for both Idaho and Towa?

A) Idaho offers to trade 1 ton of alfalfa for 50 bushels of corn
B) Idaho offers to trade 1 ton of alfalfa for 40 bushels of corn
C) Towa offers to trade 20 bushels of corn for 1 ton of alfalfa
D) Towa offers to trade 15 bushels of corn for 1 ton of alfalfa
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Produsction Possibility Frontiers For idaho and
lowa as “One Economy”: lllustrates the
Possibilities/Gains from Trade

Caorn production in . . :
bushels per acre Potential PPF with Trade: The two "economies”
could produce 14 tons of alfaifa per acre or 360

360 4
; : bushels of com per acre.

320 A
280
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200 - fowa Fam's PF’C-\\"I'he opportunity coast

160 4 ofaton of aifarfa is*0 bushels of corn
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Idaho Farmy's PPC: The opportunity cost
of a ton of alf%is 15 bushels of com

|
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!
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9 1011 1213 14 Alfalfa praduction
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’ in tons per acre

6) The figures below show markets for solar panels and textiles in Banana Republic. Pworld is the world
price in each market.

Price (3/kWh) Supply Price ($/b)
Supply
E
E P ./
werid Cl I
A A g i
_______________ i
P 1R Bt !
- [ D i '
P Demand ; | :
! i [ ! N Demand
1] 1 i Il
Electricity from Textile (millions
Solar Panels (kWh) of pounds)

Suppose that, before Banana Republic opened up its markets to international trade, the domestic markets
were in long-run equilibrium. All else being equal, what is expected to happen in the long run after the
markets are opened up to trade?

A) The new long-run equilibrium is achieved at the world price in each market.

B) The price in each market will move toward the original long-run equilibrium price.
C) Resources will shift from production of solar panels to production of textiles.

D) Resources will shift from production of textiles to production of solar panels.

7) Which of the following gives rise to a pecuniary externality?

A) Excessive consumption of alcohol leading to bad health

B) A sudden increase in the demand for diamonds, leading to an increase in their prices
C) Deforestation, leading to the extinction of many species

D) Globalization, leading to the displacement of indigenous workers

8) Refer to the figure below. The deadweight loss ansmg in the private market equilibrium is area
and is equal to

Price of
cam ({$/bu)
14 Marginal private benefit MPB = 14 - 0.2Q
12
| Marginal social cost
10 MSC=01Q+2
B .. Marginal private cost
5 MPC=01Q+05
Marginal &
external cost: 2 1
MEC=51.5/bu 1+

6 5 1‘0 ‘FIS 20 25 50 32’) 4‘0 45 5‘0 5‘5 E!D B,S Tb Quantity of com
(millions of bu.)

—— Marginal private benefit ($/bu) =~ Marginal private cost ($/bu)

- Marginal social cost ($/bu)
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A) 4; $60 million

B) B; $3.75 million
C) C; $3.75 million
D) D; $23.75 million

9) Suppose there are only three houses on a street. The following table shows each homeowner's
willingness to pay for street lights. It costs $700 to install a street light. If each homeowner on this street

is left to purchase streetlights independently, then Homeowner 1 would purchase , Homeowner
2 would purchase , and Homeowner 3 would purchase streetlight(s).
Homeowner 1's Homeowner 2's Homeowner 3's
Willingness Willingness Willingness
to Pay to Pay to Pay
First street light $400 $300 $710
Second street light $350 $200 $300
Third street light $200 ¥110 $100
Fourth street light $100 $30 $40
A)1;0;2
Byl 1:2
C) 0,02
D)0;0;1

10) A monopolist faces a linear, downward-sloping demand curve. If the slope of the demand curve is 2
(where price is on the y-axis and quantity on the x-axis) and the monopolist can sell four units of output at
a price of $16. What is the marginal revenue from selling the fourth unit of output?

A) $1
B) $4
C) $10
D) $18

11) The following figure shows the demand (D), marginal revenue (MR), and marginal cost (MC) curves
for a monopolist. The monopolist can freely set its price, but the government agreed to compensate
consumers for their loss in consumer surplus in comparison to the competitive outcome. What is the
amount of compensation per unit of output traded?

Price

MC

D
Quantity

A) (03 01) (P1 P42 01
B) (03 01) (P1 P4)/2 03
C) (@3 01) (P1 P3)2 01
D) (P1 P3) [O1 + (03 O1)/2)/01

12) There are two firms in an industry, Firm A and Firm B. Both firms sell a homogenous product. If one
firm sets a price higher than the other firm, then all the demand goes to the firm setting the lower price. If]
prices are equal, the demand is shared equally between the two firms. The following figure depicts the

REFHEEEE  FYUETORATAA




B P LREI2EFERLHECRLAREER LT REA

FELR BFP [MEAAELHELE] FAE% 443004
MAHBEBERE "AT | AT ERCRELSHE) £THEK4E

demand faced by Firm A. What is Firm B's strategy that could explain such a demand curve faced by Firm
A?

Price

Quantity
A) Firm B sets its price to p.
B) Firm B sets its price to p’.
C) Firm B sets its price to p' whenever the price of Firm A is greater than p, and sets a price equal to
Firm A's whenever Firm A sets its price below p.
D) Firm B equates Firm A's price for any price between p and p' and never sets a price outside this
interval.

13) Tire Rack.com is an online seller of tires that currently has a 14 percent share of the replacement
passenger and light truck tire market in the United States and has a 25 percent share in Canada. Tire Rack
not only sells tires but also sells wheels and offers mounting and balancing services. It does not offer
installation services, but it partners with 8,100 installation providers in the United States, all of whom agree
to charge standard installation fees based on tire size. The online presence of Tire Rack.com

A) lowers search costs for the best tire deal and makes local tire markets more competitive regardless of]
the number of brick-and-mortar tire dealers

B) lowers search costs for the best tire deal but has no impact on local tire markets, because it does not
provide tire installation services

C) lowers search costs for the best tire deal but actually makes local tire markets less competitive,
because it has partnerships with tire installers

D) does none of the above

14) The government of Westalis provided generous unemployment benefits to all unemployed workers in
the country. However, the new government that came into power reduced the amount of unemployment
insurance paid to each worker. This increased the average number of hours that unemployed workers spent
daily looking for jobs. This suggests that exists in the labor market in Westalis.

A) the problem of moral hazard
B) the tragedy of the commons
C) a pecuniary externality

D) a positive externality

15) Cath and Adam are playing a game. They are put in two different rooms and asked to choose between
two colors: black and white. If they both choose black, they will not get any money. If they both choose
white, each of them will get $5. If one chooses white while the other chooses black, the one who chooses
black will get $10 and the one who chooses white will get $0. Which of the following is true in equilibrium?

A) Cath and Adam will each get $0.
B) Cath and Adam will each get $5.
C) Cath will get $10, and Adam will get $5.
D) Cath will get $5, and Adam will get $10.

16) Which of the following is most likely to be an example of causation?

HABFHEME  FUEF ORFTAHE




BiIF LAZ 11225 EALHERLABEHEA S REA

FBLM: aFe [MHEArAELHELE] A5k 443004
HKEAFEBRBERZE "AT ) ERFERCGRAAE) £THEHESE

A) The crime rate is high in a country. The literacy rate is high as well.

B) A firm producing compact fluorescent light bulbs installs new machinery. Their per-day production
of light bulbs increases.

C) A soccer player scores four goals when he wears red socks. He concludes that the red socks helped
him score the goals.

D) A student wins money by scratching a ticket with a particular coin. He decides to scratch all tickets
with the same coin in the future.

ks (144 8535%8)
17) The marginal product of capital is the increase in
A) capital needed to produce one more unit of output.
B) output from a one-unit increase in capital.
C) labor needed to accompany a one-unit increase in capital.
D) output from a one-dollar increase in capital.

18) Someone who is not employed and is not looking for work is classified in the Labor Force Survey as
A) not in the labor force.
B) unemployed.
C) not in the population.
D) on welfare.

19) David consumes 140 in the current period and 220 in the future period. David's present value of lifetime
consumption is 340. The real interest rate is

A) 0%.

B) 5%.

C) 10%.

D) 20%.

20) Taiwan Central Government Budget project for 2023 shows that the general government expenditure
is roughly NT$ ;

A) 0.7 trillion

B) 2.7 trillion

C) 5.7 trillion

D) 10.8 trillion

21) A country has a current account surplus if
A) the value of its exports exceeds the value of its imports, assuming net income from foreign assets and
net unilateral transfers have a value of zero.
B) the value of its net exports of services exceeds the value of its net exports of goods.
C) it receives more income from foreign assets than it pays to foreigners for foreign-owned domestic
assets.
D) its capital inflows exceed its capital outflows.

22) If a French company sells 1000 gallons of Perrier to a U.S. company at 5 euros per gallon, and uses
the money to buy stock in a Spanish cork company, how does this affect the French balance of payments
accounts?

A) Decrease in financial account balance; increase in trade balance

B) Decrease in trade balance; increase in financial account balance

C) Decrease in net investment income from abroad; increase in financial account balance
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D) Decrease in trade balance; increase in net income from abroad

23) The per-worker production function in the Solow model assumes
A) constant returns to scale and increasing marginal productivity of capital.
B) constant returns to scale and diminishing marginal productivity of capital.
C) increasing returns to scale and diminishing marginal productivity of capital.
D) decreasing returns to scale and diminishing marginal productivity of capital.

24) A Lorenz curve plots
A) unemployment and inflation.
B) job openings and the unemployment rate.
C) the distribution of labor supply.
D) the distribution of income.

25) If the asset market is in equilibrium, the growth rate of the nominal money supply minus the growth
rate of real money demand equals

A) the real interest rate.

B) the inflation rate.

C) the price level.

D) the growth rate of real output.

26) You want to invest in a firm whose profits show small fluctuations throughout the business cycle.
Which of the following would you invest in?

A) A corporation that depends heavily on business fixed investment

B) A corporation that depends heavily on residential investment

C) A corporation that depends heavily on consumer nondurables

D) A corporation that depends heavily on consumer durables

27) Which of the following curves in the IS-LM model is vertical?
A) The IS curve
B) The LM curve
C) The FE line
D) The AD curve

28) Under monetary neutrality, an increase in the money supply causes output to and the price level
to .

A) rise; rise

B) rise; not change

C) not change; not change

D) not change; rise

29) The idea that new policies change the economic rules and affect economic behavior, so that no one can
safely assume that historical relationships between variables will hold when policies change, is known as
A) Okun's Law.
B) Say's Law.
C) the equation of exchange.
D) the Lucas critique.

30) The long-run Phillips curve is
A) vertical.
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C) upward sloping.
D) downward sloping.

A~ faafs  Rafisa  fayioy

1) [418 % %£2.5%] Suppose there are three power-generating plants, each of which has access to 5
different production processes. The accompanying table summarizes the cost of each production process
and the corresponding number of tons of smoke emitted each.

Process A B C D E
(smoke/day) |(4 tons/day)|(3 tons/day)|(2 tons/day)|(1 tons/day)|(0 tons/day)

Costto Fim X | $ $ $ $ $

($/day) 500 514 530 555 585

Costto Firm Y

4 420 520

($/day) 00 445 480

Cost to Firm Z

($/day) 300 325 360 400 550
Suppose the government imposes a tax of $21 on each ton of smoke emitted. To minimize costs, Firm Y
will emit tons, and Firm 7 will emit tons.

2) [&]\ A8 2.5 47°]
(1) Find all pure-strategy Nash equilibria of the following game.
(2) If each player chooses her maximin strategy which is a strategy that maximizes the minimum payoff]
for herself, then what is the strategy profile constituted by both players” maximin strategies?

Player 1\Player 2 L M R
U 4,0 1 0,1 | -1,-100
D 2:2 | 1;1 0,3

A ABERS AT SE25 BY 154
1. A basis point is a common unit of measure for interest rates. One basis point is equal to
2. What is discount rate of the central bank of Taiwan on 25 December 20227

The nation of Pride produces hockey pucks, cases of root beer, and sandals. The following table lists
prices and quantities of the three goods in the years 2017 and 2022.

Pucks Root Beer Sandals
Year Quantity Price Quantity Price Quantity Price
2017 $200 $6 $350 $15 $60 $20
2022 $175 $8 $400 $20 $70 $30

Assume that 2017 is the base year. Find nominal GDP and real GDP for both years.
3.2017 Nominal GDP. Ans: .

4.2017 Real GDP. Ans:

5.2022 Nominal GDP. Ans:

6. 2022 Real GDP. Ans:
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